PART—A
SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled (a), (b)
and (c). Read each sentence to determine whether there i8 any error in any underlined part and
indicate your response in the Answer Sheet against the corresponding letter, i.e., (@) or (b) or (o]
If you find no error, your response should be indicated as (d).

1. A company of five thousand soldiers, ~ having marched tirelessly for over five days, |
(a) (b)
have just moved into their cantonment, No error
(c) (@)
2. Every person who believes in principles must stand up to fight
a) (b)
for their convictions. No error
(c) (d)

3. The Olympic Games reflects the highest spirit of

(@) (b)
human endeavour and achievement. ' No error
() (d)
4. The principal of the school stressed the need for discipline amongst the students.
(@) (b) (c)
No error
(@)
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5. Failure is the stepping stone to success; however, successive failures are not
P10 stone to success;
(a) (b)
successive stepping stones to success. No error
S >0nes to success. NO e
(c) (d)
6. India’s strengths are its diversity of culture and
(a) (b)
the spirit of tolerance in it’s people. No error
(c) (d)
7. Once considered ninth planet of the solar system, Pluto is today listed as the
- (a) , (b)
largest dwarf planet of the solar system. No error
(c) (d)
8. The greatest glory in life is to be able to realize ones dreams and ambitions
(a) (b)
without trampling on those of others. No error
(c) (d)
9. To be able to manage one’s anger is a reflection of an individual’s
(@ ‘ (b)
psychological maturity. No error
(c) (d)
10. A honest mistake is no more than that; just an honest mistake. No error
(a) ' (b) ' (c) (d)
SDFR-F-TAG/44A 3 [ P.T.O.
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Directions : Given below ar

‘ mo
Choose the most appropriate answer from a
16. Under the weather
11. Counting your chickens () walking in the raj
ain
(a) confident of success p) contr
alth (b) olled by the elements

(b) greedily accumulating we

(c) being careful about
money

(d) getting scared because of danger

spending () Drowbeaten by the heat
(d) unwell

17. To sit on the fence
12. The icing on the cake

(@) baked food that is delicate and
delicious with a topping

(a) to act promptly
(b) to be lazy

(b) extra benefit over and above an (c) to be undecided
already good deal (d) to sit without doing anything
(c) getting what you asked for
(d) more than what is needed 18. Once in a blue moon
13. A stitch in time (a) romantic moment
(a) tailoring one’s efforts efficiently : (b) occasionally
(b) making an effort to succeed (c) rarely
(c) inability to take timely decision ( d) often

(d) timely action that prevents a

negative outcome ! ;
. 19. Through thick and thin
14. At sixes and sevens (a) in genuine friendship
(@) on top of the situation (b) through the best of everything

(b) state of denial

(c) state of total confusion f among:pecpis pohsiet and Si

@) well-planned and prepare d (d) through difficult times

15. Talking twenty to the dozen 20. Like chalk and cheese

(a) talking hurriedly and rapidly (@) very different from each other 5

p) talking too much :
(b) ing (b) without any blemish

(c) talking without making sense
(c) pure white in colour

(d) taiking out of turn 2
(d) very like each other
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ORDERING OF WORDS IN A SENTENCE

Direc#ons : Each of the following jtems in this section consists of a sentence, the parts of which have
been jumbled. These parts have beep Jabelled P, Q, R and S. Given below each sentence are four
E A UEREES namely (a), (b), (c) and (d). You are required to rearrange the jumbled parts of the sentence
and mark your response accordingly

21. but perhaps the best way is to agree there are many ways of dealing
P Q
with them without excessive argumentation with intransigent customers
R S |

The correct sequence should be

(@ QPRS (#) QSPR
(c) PSQR (d) RSQP
22. in the years following India achieved remarkable economic development
P » Q
liberalization in the year 1991 the landmark reforms inaugurated via -
R ‘ S

The correct sequence should be

(a) PQRS () PRSQ
(c) SPRQ (d) QPSR
23. was the victory secured by the women’s hockey team in the arena of sport, perhaps
P Q.

against Australia in the Tokyo Olympics
R

the greatest moment in Indian Olympic history
S

The correct sequence should be
&) SPQR : (b) RPQS
(c) QSPR _ (d) QRPS
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24. in tcrmstf GDP and GNP, for gauging the success of a nation

P Q
y ' i (] i rmined
which are the two major determinants economic_PTOETESs 13 dete

R S

The correct sequence should be
(@ SORP (b) RPQS
(c) SPRQ (d) QRPS

25. with the aplomb of a stage artist, that they are not men of straw
P Q

mesmerizing the gullible into believing

they can twist and shake their wobbly heads
R S

The correct sequence should be

(a) PRQS (b) RPSQ
(c) SPQR (d) QRPS
26. of its rain-soaked verdure and on the other there are
P Q
on the one hand there is the immense beauty the artifacts of its visible modernity
R S

The correct sequence should be

(aq) PRQS (b) QRSP

(c) SPQR (d) RPQS

27. are often rooted the causes of extreme poverty
5 Q R

in the inequalities of social systems
S

The correct sequence s‘fmuld be
(a) QRPS (b) QRSP
{c) SRQP (d) SRPQ

SDFR-F-TAG/44A 6



28. a person by the way  he pepaves and  you must judge
he behaves an=
! Q R

not by the way he looks
S :

The correct sequence should be
(@ RPQS

() QRSP

() RSQP

. (d) QPSR

29, to the greatest number of people .that causes the least discomfort

P Q

. whenever in doubt always opt for the option
R S

: The,c'orrect sequence should b-er :
(a) . RQPS '
() QRSP
() RSQP
_'{d} QPSR

30. brought by bad ﬁmes against thé despondency our greatest defence
% faith and belief are
S

The correct sequence should be
(a) RQPS
{b) SRQP
(c) RSQP
(d) QPRS
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ANTONYMS

Directions : Each item in this section consists of a scnten?e \fvith an underlined word followey -
by four words (a), (), (c) and (d). Select the option that is opposite In meaning to the underlined Worq
and mark your response in your Answer Sheet accordingly.

31. He is essentially a crude person. 36. This piece of art is authentic.

(a) coarse
(b) refined
(c) eager

(d) balanced

32. His confidence is high.
(a) diffidence
(b) eagerness
(c) stcadfastness

(d) endurance

33. His integrity is noticed.
(a) skilfulness
(b) ability
(c) dependability
(d) dishonesty

34. She is a benevolent individual.

(a) clever
(b) muddled
(c) malevolent

(d) ambivalent

35. His sartorial manner is judged.

(a) unstylish

37.

38.

39.

40.

(a) genuine
(b) expensive
(c) rare

(d) fake

The deluge affected the population,

fa) cloudburst
(b) drought
(c) deforestation

(d) drizzle

His dedication is known to all.
(a) clarity

(b) hostility

(c) apathy

(d) anger

His perspicacity was remarkable.
(a) smartness .

(b) dullness

(c) dedication

(d) deviousness

He has a penchant for spicy food.

(a) tendency

(b) uncompromising (b) affinity
(¢) common (c) fear
(d) crude (d) dislike

SDFR-F-TAG/44A



SYNONYMS

Directions : Each item in thig geqtjon consists of a sentence with an underlined word followed
by four words {a)s (b)l (C) and (d). SCICCt the OptiOn that is nearcst in mcnnlng to the undcrlincd word
and mark your response in your Answer Sheet accordingly.

41. After a good meal, it is important to pay a 46. Hec is always jovial,
compliment to the chef, . chccrful—
a) ti
fa B ; (b) callous
raise
b pd (c) garrulous
c) admonish
i (d) credulous

(d) revile
47. Mohan remains morose these days.

42. His work is laudable, ) Intraspective

(a) praiseworthy
(b) laughable

(b) generous

(c) chirpy
c) bold
o (d) sullen
(d) loud
. : , 48. He was a reluctant learner.
43. Raj is a competent carpenter. (a) enthusiastic
(a) \' capable (b) eager
(b) exceptional () unwilling
(el macept (d) fearful
(d) clumsy

49. Amit is optimistic about the prospects of

44, He is diligent in submitting assignments. his investments.

(a) dilly-dallying (a) pessimistic

(b) procrastinating (b) uncaring

(c) intelligent (c) carefree

(d) conscientious (d) sanguine

45, He appears to be reticent. 50. Sachin is very cooperative by nature.
S —— e

(a) expansive (a) complaisant
(b) jolly
(c) silent

(d) withdrawn

{b) covert
(c) complacent

(d) conniving

SDFR-F-TAG/44A 9 [ P.T.O.
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(C}Wﬁmﬁqmmm (d) 1,23:?"{3
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o straeEs Al ?
(d) R ¥ aadd ¥ w9 e ¥ 5
o § e 7 F FITE g5, 50 ohm SN F A9 AR A A
@t A ¥ =9 ° HE I | dNEq H W
sa. frh g T 7 g8 hew w4 ;Wﬁzgfﬂm@m%'ﬁm
3T A < 27 '
(@ & AHA IH A 3R 5@ w1 JEA
mma . (a) 2 ohm
(p) @ auEE fE @ osht s W e
d Te A : (b) 10 ohm
() @ @A e @ ez W e
&ree g 8 ’ (c) 05 ohm
(@) @ TR 3= @ AR FE W OGEE
e g T (d) 5 ohm
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PART—B

51. What is the mass of a material, whose
specific heat capacity is 400 J’/(kg°C)
for a rise in temperature from 15 °C to
25 °C, when heat received is 20 kJ ?

(a) 0'1kg
b) 1kg
(c) 10kg

@ 5kg

52. The specific latent heat of vaporization
of a substance is the quantity of heat
needed to change unit mass from

(a) liquid to vapour with a change of
temperature

(b) liquid to vapour without a change
of temperature

(c) vapour to liquid without a change
of temperature

(d) vapour to liquid with a change of
temperature

53. Evaporation from the surface of a given
liquid takes place more rapidly when

(@) the temperature is high and the
surface area of the liquid is large

(b) the temperature is low and the

surface area of the liquid is large

rature is low and the

(c) the tempe
uid is small

surface area of the liq
e is high and the

(d) the temperatur
the liquid is small

surface area of

SDFR-F-TAG/44A 11

54, Which of the following statements

correctly explains/explain the existence
of a positive force between two electric
charges?

1. Both the charges are positive.

2. Both the charges are negative.

3. Both the charges are oppositely
charged.

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) 1 and 2 only

(@) 1,2 and 3

55. An electric wire of resistance 50 ohm is

cut into five equal wires. These wires
are then connected in parallel. What is
the equivalent resistance of this
combination?

(a) 2 ohm

(b) 10 ohm

() 05 ohm

(d) S ohm

[P.T.O.




56. T P ST e A3 o 59, PR 8 2 A et s 47
el T & Yand e o ¥ |
(@) @ H IEHET F A AT
(@) <TET U8 | wyi-tdy
(b) =% 1 foEe
(b) F Y8 A gHU W A N F R
# 3 (c) Toeeem
(c) =Te 98 § frell o w10 W (d) 79 F @A A
(d) =Tew 98 Q gERm W 3K M F R
] I A AR
60. 9 IR I f FWEEFA (+1) 3
FERE WOUEH A GEOEEA (2) R, 3

Aefafgs § ¥ Mg FEHEE T T
57. Frfufag § & SF-T1 e T8 37 :

o §F HH-91 87
(a) e (@) (NH,), CO,
(b) 3 (b) NH,4 (COgz),
(c) 913 () (NHjz), COj
(d) TEHT (d) NH, CO,
58. wgqﬁz@;mf N N S,
@ (a) Hicqan s
(b) TVTST 3{THEH (b) W TS
(c) gead H / (c) foferrm s
(d) ST (d) firs wowEs
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56. The il_CC'liflC f;lleld lines from an isolated 59. Which one of the following is a chemical
positively charged CondUCting sphere change?

A Dissolving sugar in water
(a) tangential to the : (@ B Sug
siirface conducting

(b) Melting of ice

TQ} at rli:ight angles to the conducting
lele :;; ez‘:er;d towards the centre of (c) Crystallization

() at any angle to the conducting (d) Milk turning sour
surface

(d) at right angles to the conducting
surface and outwards from the
centre of the sphere

60. Which one of the following is the correct
molecular formula of ammonium
carbonate if the valency of ammonium
ion is (+1) and carbonate anion is(-2)?

57. \Xil;ilil'tli;ige of the following is not a (@) (NH4),CO3
(a) Alloy (b) NH,4(CO3),
(b) Milk A e .~ {J (NH3),CO3"
(c) Alr ' (d) NH,CO;
(d) Sugar

61. Which one of the following is a covalent

58. Refining of petroleum is carried out using compound?

which one of the following techniques?
{a) Calcium oxide

(a) Evaporation
: (b) Sodium nitride

(b) Fractional distillation

(c) Separéting funnel (c) Silicon carbide

(d) Sublimation (d) Zinc sulphide

SDFR-F-TAG/44A 13 [ P.T.O.



62. AR H zomw e 40 21 PEfife 3 A
BH-H1 o ) 27

(@) 3 J T 6 g 22 2
(b) 34 | =R A wew 18 2
(c) ¥V & ez 6 e 18 2

(d) A N oiv zomi € e
F M 40 7

63. Ne, Si, N aix Mgﬁﬁéﬁmwv‘aﬁ
ﬁﬁﬁ%@aﬁﬁﬁq—m%?

(@) Ne <Mg <N <Si
(b) Si <N <Mg<Ne
(c) Ne <N<Si<Mg

(d) Mg <Ne <N < Si

64. Thell yarmadi wmm A smEf 3 Hz ¥ TEE
ST T &7

(a) ¥ 3 6 cycles/s &
(b) T@H 3PN 3 cycles/s &

(c) w9 3R 2 cycles/s &
(@) & sk -aaa 1 cycle/s &

SDFR-F-TAG/44A s

65. FrAffEn 3 A F-m vRkivmm 5

(ﬁﬁff@qm)aﬁﬂaﬁmﬁ@ﬁm;%
(@) Q

() Q/m

{c)‘ Qcm

(d) Qm

66. 240 V il W gl # 60 W?SEEBM

7 7 3T ) % e Pl Rrgg-am
6 ST efi?

(@ 05 A
(b) 025 A
€ 1-0A

(d) 50A

67. Mﬁmmammm@mﬁmﬁa

T IeqH R 8 TR R Rk e 27
(@) TR % g
(b) 0 g * srgema:

(c) wﬁag@magﬁmﬁ:aﬁtmaﬁ@
B (I E

(@) R (T W) F g sk

w0 30 (4 70 ) % e



62. The mass number of argon is 40, Which
correct?

(a)

The number of protons in argon
is 22.

The number of neutrons in argon
is 18.

The number of electrons in argon
is 18.

(d)

The sum of numbers of protons
and electrons in argon is 40.

63. Which one of the following is the correct

order of the valencies of elements
Ne, Si, N and Mg?

(a) Ne <Mg <N <Si

(b) Si<N<Mg<Ne

(c) Ne <N<Si<Mg

(d) Mg<Ne <N<Si

,'17‘

64. The frequency of an alternating current
is 3 Hz.'It implies' that

(a) there are 6 cyclfes/ s
(b) there are 3 cycles/s
(c) there are 2 cycles/s

(d) there is only 1 cycle/s

SDFR-F-TAG/44A L=

65. Which one of the following correctly
represents the SI unit of resistivity?

(a) Q
(b) Q/m
Qcm

(c)

(d Qm

66. What is the current required to light a
60 W incandescent bulb in a domestic
supply of 240V ?

(a 05 A
(b) 025 A
1-0A

(c)

(d) 50A

67. The rﬁagnetic field produced by a
current-carrying straight wire at a point
outside the wire depends

(a) inversely on the distance from it
(b) directly on the distance from it

(c)

inversely at short distances and
directly at large distances from it

(d) directly on the distance (at short
distances) and inversely on the
distance (at long distances) from it

[ P.T.O.




o8- Tl i oy (Brghr) @ R
(@) ML37-2
(b) M-13p-2
() M?2p-2p-2

(d) M2p-1p-2

69. TF T H 40 m/s B 9 A T IR D
ﬁtﬁﬁvﬂm%lﬁaﬁ rftreran S8
TE A T R g ey

(@ 2 s
(b) 3 s
c) 4s

(d Ss

70. 1 m A= AAF F AP a@™T R
TR &7

(a) 6 s
(b) 48
(c) 28

(d 1s
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el 2
&, srfs fsfig ymft 78 = #)

= fou MY F2 1 yEm W Eqd W gy

(@) Had 1

(b) FaA 2

(c) 1 3R 23

(d AWM 1IRTE 2

72. fefaRed & | SH-91 Uy dE9F (<

wieg) T8 (W), 9d 3R WA Fhmme
% TUfEd T 27

(a) RS (FARI<TR)
(b) Al TEH (HIET)
(c) Svich (ShIHIR)
(d) ddeash (SFRe)

73. fieffad # @ ¥F-w Fu war (drge)’

& an #§ w7 7

(a) WEHl ¥, Th 91 Fs1q @y et &
A RINTHI ST H1 90% R FHal 2|

(b) aweafa wRERel A, war Wi w
TG W&W Fll B

(c) smi §, TWurh R G A i A
]

(d) Sig RRERET § war T A R



_ What is the dimension of gravitational
constant?

68
(@ MLPT?
(p) M7PT

( M2L2T?

(d M2

69. A ball is thrown vertically upward with a
speed of 40 m/s. The time taken by the
ball to reach the maximum height would
be approximately

(@ 2s
(b) 3 s
(c) 4s

(d 5s

70. The time period of a 1 m long pendulum
approximates to

(@ 6s
(b) 4s
(c 2s

(d 1s

SDFR-F-TAG/44A 17

71. Which of the following statements about

living and non-livi
<living being i
correct? ) B 1/ Are

1. While living being can demonstrate
growth and repair, non-living being
cannot.

2. While living being demonstrates
metabolic processes, non-living
being does not.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

72. Which one of the following plant plastids

stores starch, oil and protein granules?
(a) Chloroplast

(b) Leucoplast

(c) Chromoplast

(d) Xanthoplast

73. Which one of the following statements

about vacuoles’ is not correct?

(a) In plants, there is a large central
vacuole that may occupy 90% of
total cell volume.

(p) In plant cells, vacuoles provide
turgidity and rigidity.

(c) In Amoeba, vacuoles have role in
nutrition.

(d) Vacuoles are absent in animal
cells,

[ P.T.O.
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74, Inaquatic plants, large air sacs give them

puoyancy effects. These sacs arc
surrounded by - which ope . of the
following types of tissues?

(a) Parenchyma
(b) Collenchyma

(c) Sclerenchyma

(d) Complex tissue

75. Which one of the following belongs to

‘Pisces’?

(a) Dogfish

(b) Jellyfish

. (c) Silverfish

(d) Starfish

6. Which one of the following groups is

called ‘amphibians of plant kingdom’?

(a) Bryophytes

(b) Thallophytes

(c) Pteridophytes

(d) Gymnosperms

SDFR-F-TAG/44A 19

77. Which onc of the following is caused by a

bactcrial pathogen?
(a) AIDS

(b) Dengue fever
(c) COVID-19

(d) Typhoid fever

78. The twinkling of a star is due to the

atmospheric

(a) diffraction of starlight
(b) reflection of starlight
{c) refraction of starllight

(d) dispersion of starlight

79. A mass M is dragged by a pulley on a
horizontal plane by a force anti-parallel
to its displacement. The work done in
pulling the mass M is

(a) zero
(b) positive
(c) infinite

(d) negative

[P.T.0.
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80. 10 kg TR T ww fe @, Fd s N 84. T W e wwmy A 35 8, vom g o

T TR B 37 Hied W Wmﬁﬁ E:ED 3
Al F el gen Feafafaa 3 4 1 3y
(@) 5-0 cm/s? i
{ . :
(b) 05 m/s2 @
(b) 3
() 05 cm/s?
fc) S
(d) 50 m/s?
(d 7

81. 52 kg SR W T T=H 3 ke FEAH D ‘ |
ol foom Jem-mry (FE) W 2 m/s ¥ Afw g85. fefafaa & @ ==-d arfufsa, e?l'frqaq\

NEESUNESE EE R SESe ¥ Sl (Yeraw fodaw) 1 T2 T 7
- A = PR ?

i R S (@) AICl, +3H,0 — Al(OH), + 3HCI
(@ 2:15m/s

(b) 2NaH—2Na +H,

(b) 1-89 m/s
(c) 151 m/s c) 4Fe+30, — 2Fe 50,
(d) 251 m/s (d) CuSO, +Zn — Cu+ZnS0,

82. a7l frfa storn wew § whady % wro ey 86. Ffufas o ¥ @\-w =dy = HREY,

fie (1Y) g0 e ol ) w7 =0 &7 foreeeha faferer & wrmrfoes 27
(@) T S (a) & |
(b) Teufo= =il (b) T

fi m:f © e

d .

(@ S (d) wEe

83. TF Wi @ #H Wi 1 kHz 3R o ; | '
50 cm 81 1 km HI g @ 0 T @ s7.ﬁm%%aﬁ"%aﬁq-mm3@mﬁvmh%?

?
fera @m0 eI PE
(@ 5s .
() Tt
(b) 4s |
€ 3s (c) A
(d 2s (d) TR
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g0. A 5N force is defined when a mass of 84. For an element with atomic number 35

10 kg is accelerated with which one of the following will be the
correct number of elect in i
. o rons in its
(a) 50 cm/s valence shell based on Bohr’s model of
t
B 05 m/s2 an atom?
(@) 1
(c) 05 cm/s?
(b) 3
(d) 50 rn/s2
(c) o
(d 7
81. A boy of mass 52 kg jumps with a
horizontal velocity of 2m/s onto a
stationary Cf”'t_ of mass 3 kg. The cart is 85. Which one of the following is not an
fixed with frictionless wheels. Which one ‘ example of a redox reaction?
of the following would be the speed of
the cart? ; (a) AlCl; +3H,0 — Al(OH)3 + 3HC1
(@) 2:15m/s , (b) 2NaH — 2Na +H,
(b) 189 m/s (c) 4Fe+30, —2Fe,03
() 1:51m/s - (d) CuSO, +Zn —Cu+ZnSO4
(d) 2:51m/s ,
’ 86. Which one of the following allotropes of
ﬁ 82. The energy possessed by a body due to carbon is isomorphous with crystalline
; its change in position or shape is called silicon?
(a) thermal energy »’(a) Coke
(b) potential energy ' (p) Diamond
(c) kinetic energy (c) Graphite
(d) electric energy (d) Coal

83. A sound wave has a frequency of 1 kHz
and wavelength 50 cm. How long will it
take to travel 1 km? '

87. Which one of the following is the colour of
hydrogen gas?

(a) Light yellow

(@) Ss

(b) 4s (b) Orange
(c) 3s (c) Black

(d 2s. 13 (d) Colourless
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g8, Frefafad § A HH-T 0 (fprie) 7 ®7
(a) Toe RS
(b) < (@)
(c) |Ha €
(d) i

89. m%éﬁuﬁ,ﬁmﬁiﬁﬁﬁéﬁqmmm
T T 87

(o) T FIEPRETH I ¢

(b) wﬁﬁ@%uﬂn%qmﬁmm
R

(¢ 3= T@ IR IF q@ N st 3R
= s f iGRET T e
AT ST EHA 8

(d)zﬂtmﬁmaﬁaﬁa‘ﬁmm Al
Mg B 2

00. Frefafiad § & FrA-81 o TE T o7

(@) s e A fgd % g T
i

(b) FEfE DfE A ey geadsTE B
]

(o) e 1 T S % &
T 2

(d) ¥, FTE F T AU B
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g1, frffad # & P wrfufwm,
ffRT 1 T TeEm R

CH, () +20(g) > CO, @) + 0

2AgCIH) —E P oAgls) +Cl, g

(@
(v)
e
(@

CuO+H, T _,cu +H,0

Fe(s) + CuSO4 (ag) —
FeSO,4(aq) + Cu(g)

92. @R drell (¥AR) nﬁﬁawﬁmzﬁm
frefafaa § & HA-H 77

(@) A 3iE® fe wE T

(b) 3 1y R fore o 3

(c) 3 g (STeriie) < fore R & R
(d) 3 =g % WA F Rl w2

93. _ﬁmﬁrﬁaﬂﬁﬁﬁaw%ﬁww%fﬁﬁé?
(@ THIE
" (p) Tefewra
(c) T
@ T

94, @ﬁm,%ﬁ:ﬁmﬁs@wmﬁm%
mﬁm%f@aﬁﬁﬁm-mﬁmﬁg&q
T Tl &7 '

(@) W sise S (S G
fegpam)

(b) Tiiesh HE (e Sish)

(c) TAHE (TTFHHMA)

(d) TR (TRARIREN)



,‘
. - gg. Which one of i
-f 88 the followmg is not a

pigment?

{a) Zinc oxide
(b) Chalk

(c) White lead

(d) Silica

89. Which one of the following statements

about fertilizers is not correct?

(a) Urea is a phosphorus-containing
fertilizer.

(b) Application of fertilizér to the soil
increases fertility of the soil.

(c) Urea can be prepared by action of
ammonia and carbon dioxide under
high pressure and at high
temperature.

(d) Urea contains more nitrogen than
other fertilizers.

not correct?

(@) Most carbon compounds are good
conductors of electricity.

(b) Bonding in organic compounds is
covalent.

(c) Graphite is used as a lubricant.

(d) Diamond is an allotrope of carbon.

SDFR-F-TAG/44A
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91. Which one of the following reactions is an

example of decomposition reaction?
(@) CHylg)+20,(g) — CO,(g) +2H,Ofg)
(b) 2AgCl(g) —SUnliEht yoAg(s) +Cl, (g)

(c) CuO+H, —1@ ,Cu+H,0

(d) Fe(s)+CuSO,(ag) =
’ FeSO,(aq) + Cu(s)

92. Which one of the following is the

mechanism of  action of oral

contraceptive pills?

(a) They kill the egg.
(b) They kill the sperm.
(c) They kill the zygote.

(d) They inhibit the release of egg.

93. Which one of the following plants has

unisexual flowers?
(a) Papaya

(b) Hibiscus

() Mustard

(d) Sunflower

94. A cell is unable to synthesize lipids.

Which of its cell organelles might be
defective?

(a) Smooth endoplasmic reticulum
(b) Golgi bodies
(c) Lysosomes

(d) Mitochondria

[P.T.O.



95. T Tl e # P A W e A
T Rt R | Secemaman 7= 7
(@) FNTER T
(b) AIE T
(c) SIRgE =«
(d) SUiegE T

96. WIfFT % <fm v fram % orgEr, IR A
I 8 ) R 3R gt wrEe A i R
fom =0t zvian R, Q) ¥eh g€ wew Refefea
T ¥ fraeh fan zwiwdi?

(@) ITEH W HAS oo

(b) e &
(c) W@ fagg-aw@
(d) Tergg-ymw

97. A Wdus R, 3R Ry, W & & v & Tiffa
% IR e Hied & ¥, T O W% ooy §
Td HaeA # waf@a 81 Ak R, fi TR,
R, o= A g 3, @ Tl Wiady R fRE
3 Bm?
(@ 3R=2R
(b) 3R=2R,
() 2R=3R
(d) 2R=3R,

98. 10 cm H%¥ 0 & T aqd o9 gRI I
A F1 EM, T AW Y S cm R gl W
e s 87

(a) 20
(b) 10
(c) 05
(d) 0-33

|
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99, 2 kg TEAM 3N (30 cm x 15 cm x 1g
femmetl Ot T TR F R B owg

A

A

°m)

r@rm%,ﬁmﬂzi\agu(%aazh)aﬁm“

WEQW%(HTS@) 30cm3ﬁ'{100m
T W Y den  (FEd) e

(]l

i
frefafea % & 7 dm?

(@ 111.1N/m?

(b) 222.2 N/m?

(c) 333.-3N/m?

(d) 666-6 N/m?

100. Fwrl & 2R gaas we ° Fifa =i &2

1.

e ISH & TRA fovm | 9 & wiwd
TafE v (IN) S fm ¥ s
F 9 AEH | I # siafa
ped

Tt Som ¥ dm fem % ffm
WEE IR F TEEH F T
Fofid R (FF) W e F A
% oy orEr A oy § iaka e 9
TH| :

aﬁﬁm@wmwaﬁmiﬁﬂ :

(a) Fa 1

(b) T 2

(c)

1 3R 2 <Mt

(d qdq1ATd2



95. All objects experience & buoyancy when

they are immerse( j
n :
is a fluid. Buoyancy

(a) a downward fore 8
* (b) a downward Pressure
(c) an upward force

(d) an upward pressure

96. According to Fleming’s right-t.xand rule, if

the fore_ﬁnger indicates the direction of
magnetic field and thumb shows the
direction of motion of conductor, then

the stretched middle finger will predict
the direction of

(a) force acting on the conductor
(b) electric field
(c) induced current

(d) current

97. Two resistors R, and R, arranged in

parallel combination in an electrical
closed circuit are made of the same
material and of same thickness. If the
length of R, is twice the length of R,
then the total resistance R satisfies

(@ 3R=2R
(b) 3R=2R,
() 2R=3R

(d) 2R=3R,.

08. What is the magnification produced by a

concave lens of focal length 10 cm,
when an image is formed at a distance

of 5 cm from the lens?
(@) 20 '
(b) 10

(c) 05

(d) 0-33
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99, A wooden box of mass 2kg and

dimensions (30 cm % 15 c¢cm x 10 cm) is
placed on a table with sides 30 cm and
10 cm touching the tabletop. Which one
of the following is the approximate
pressure exerted on the table?

(@ 111.1N/m?
(b) 222.2N/m?
() 333-3N/m?

(d) 666-6N/m?

100. Why are the tyres of aircrafts made of

conducting rubber?
1. So that the charge accumulated on
the aircraft in flight, by rubbing the

air, can easily be transferred to
ground on landing.

2. So that the charge accumulated
due to the operation of various
electronic equipments in the
aircraft in flight can easily be
transferred to ground on landing.

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.



101, ydd worlifos freamum w1 TR O,
efer, ea: e w R R

(@) FAdqaeey
(b) w=FR
(c) WTEAHe (RehTR)

(d) TS

102. Fa T Gfear i § and?
(@) T fo go
(b) <rEd | 7w T do go
(c) <heh vt do go

(d) ‘ﬁaacim'go Yo

103. ﬁwmﬁmﬁﬁ@aﬁmﬁmﬁﬁ
I Frefafe 3§ Qe vt % e g

ST TfdeRR] 3 o R TeRafy 9 e o
(@) Fael ek 3TeA sl wqy

(b) @ % 3 gy

(c) e =%, g8 it W

(d) T AT, =%, g4 ol w
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104, @ H THz (wifre) gem: R tngaq(

3

anurf 27

(a) <A wifefrrz

(b) Tt it
(c) ARERY (aifera) =g

(d) Fa wiffariie

?-?1

105. W%-Qﬂﬂﬁﬂaﬁmﬁgﬁ%ﬁﬁﬂqﬂm;

T 77 — *

(a) ST TRTG E §

(b) Nah = fag
(c) ?mﬁ“@t

(d) TIo o tirar _ :




CCOﬂOmy

(b)

culture
statecraft

(d)

monarchy

102. When did Charaka Samhitq originate?

(a) 6th Century BCE

(b) 3rd to 2nd Century BCE

(c) 4th Century BCE

(d) 5Sth Century BCE

103. Early Buddhist sculptors did not show
Buddha in human form. Through which
of the following symbols was Buddha’s
presence shown by the early sculptors?

(a) Empty Seat and Stupa only
(b) Wheel and Tree only
(c) Wheel, Tree and Stupa only

(d) Empty Seat, Wheel, Tree and Stupa
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104, The Parliament of India is primarily
based on the model of

(a) German Parliament
(b) British Parliament
American Congress

(c)

(d) French Parliament

105. Who among the following had the
shortest span in office as’the Prime

Minister of India?

(a) Lal Bahadur Shastri

() Chaudhary Charan Singh
(¢) Chandra She@m

(d) H.D. Deve Gowda

106. Which one of the following does not fall
under the jurisdiction of the apex court
of India?

(a) Original Jurisdiction
(b) Appellate Jurisdiction
(c) Collegiate Jurisdiction

(d) Advisory Jurisdiction

[ P.T.O.



107. vl whem-fm fm % oan, frefafa

A gy (wReE) # fkwa/
fortiwand < 2737

1. HWifkm vdnifes Q3 8, o wwEiy A
ST Ty

2. T AE: AAER a9 B R
M T AHEE TG W q-wEE W
W Fan R

ﬁﬁnmfemmnwvamgml
(@) T 1

(b) ¥ 2

) 1323

(@ A 1dMmaH2

108. gt 91 gl (Im) i g (ame) woeR

el T ERE S=t ¥, dW faiE Y
FrefaRaa foam = fr .

1. ol g 9ol Yl e o
(F9=1) Tiem )

2. T 2 : gl =1 ylia =, fgad
=™ ¥ T B

3. faumfi 3 : fagada &m # femm
9ol & ufeEn % FRo )

g Taenfiial & @ @9 wdt &/€7
(a) Faa faemefl 1

(b) e faenefl 1 3 foremefl 2
(c) aa Tarenefi 2 3iv faenefl 3
(d) ferendi 1, fereneff 2 s farenefi 3
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110. 3fis  affy  womeh

109. @R 3@ T, 29 FR Tom F @R

g
ﬁ,ﬁn%aﬁﬁmqﬁ%ﬁzmﬁqﬁgmg:z
mwﬂ%aﬁﬁzﬁxmmmg

ammﬁffﬁﬁawiﬂmﬁﬁlm
frafafaa 4 A Rraeh /et AT Sy
aﬁmmﬁammwﬂiﬁrmmqﬁ?

(@) 38 T F Fad Agi
(b) W TIH F HIA IR
(c) 38T % W A 1877w A

(d) 39 T & A&, IR AR 39 =H R
g=al -

(‘?ﬁaa.‘t?rﬁmﬁfir
Rres—sfte dto wHo) ¥ day A, fr=faRaa
H ¥ HH-° FY TR T 27

(@) Iz 9=l 6t T W R I F Joa
R aha &1

(b) W& riviiEa Tefd W s ¢

(c) Sho dlo wdo T &w, Fmimy iy
I o wel A WA (SHH) Tan &

;@:ﬂﬂi{ﬁ%".’(ﬁ%l




107. According to

the Ing;
Department, Whicr;ldmn Meteorological
0

is/fare  the fe [ the following
cloudburst? Ature/features  of

1. Hea?y Precipitaj,

2. It occurs
n .
period angcle treimuy during monsoon

landslides 88ers flash flood and

Select the correct answer
given below,

(@) 1 only
(b) 2 only
(c) Both 1 and 2 .
(d) Neither 1 nor 2

using the code

108. In a group discussion on shape and size

of the Earth, three students stated the
following points :

1. Student 1 : The shape of the Earth
is basically an oblate spheroid.

9. Student 2 : The polar diameter of
the Earth is more than the
equatorial diameter.

- 3. Student 3 : Bulge along the

equatorial region is due to
revolution of the Earth.

Who among the above students is/are

correct?

(@ Student 1 only

(b) Student 1 and Student 2 only

d Student 3 only
student 2 and

(c) Student 2 an

(d Student 1
Student 3
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109. While watching news, you hear about a

place, of which you had never heard
carlier. You want to know more about
the place and you want to locate it on
the map. Which of the following is/are
required for you to be able to locate the
place on the map?

(a) Only latitude of the place

(b) Only longitude of the place

(c) Both longitude and latitude of the
place

(d) Latitude, longitude and altitude of
the place

110. Which one of the following statements

with respect to Global Positioning
System (GPS) is not correct?

(a) It is based on network of satellites
orbiting above the Earth.

(b) 1t is based on the system of
triangulation.

(c) GPS receivers provide location in
terms of latitude, longitude and
altitude.

(d) 1t provides information exclusively
for military operations.

[ P.T.O.




111, Feffes 3 A fw-wm oy = wifRahe 114. mﬁmmﬂﬂg@aﬁﬁamzﬁmﬂ
| 7,

T T R . !
(a) TER IrgRRE TR wwEm (o) CrHR TR (dfeqer THEz) if
(b) TER FERE SR A (b)
(c) A fwe i amm & i o
(d) TEW HiRen Awm

(d) F¥-TTEA (-

112. WA wra & fFg 6 @ Y 9w wiw@ 6
arn 3 s’ T AR (e) o oh?

115. ‘s A wWaxar foHEmom (

: S s RESA) § FeRfe §
(a) <M FE-H (Wang Xuance) - R Sqf\w;aafwrﬁmaaa
' | R coll
(b) &TEF (Xuanzang) oy
1. 9o
(c) 3 (Yijing) DR
(@ < RifmEe (Li Yibiao) B 3. Y@ (Qureh) =1 e
4. <ga
113. 94 2019 A T WA I €6 % F=ct we4 & , ﬁmm?mmﬁﬂﬁmgﬁmf
9 ¥ o e gan w? _ e
(a) ¥a 1
(@) 1441 A AN
i (b) == 1 afw 2
(b) 1541 & BN
(c) 164 AE B fe) 1,233
(d) 1741 & @ (d) 2, 334
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. Whicl
111 Co,:;;mol;qt;: of the followi
onal Cornminaio:gori? ]""t )
ndia?

@ The  Nationg) o
Scheduleq Casteg Mmisgsion for
(b) The  Nationg Corabir
Scheduled Tribeg Mmigsion for

() The Nationg]

Backward Clagg,e Commission  for

8

(d) The Nationa]

Women Commissgion for

112. Which Chinctfc traveller in ancient India
wrote the diary called ‘Records of the
Travels to Middle India”.

(a) Wang Xuance
(b) Xuanzang
(c) Yijing

(d) Li Yibiao

113. The elections to the Lower House of the
Parliament of India, held in 2019,
constituted the
(a) 14th Lok Sabha
(b) 15th Lok Sabha
(c) 16th Lok Sabha

(d) 17th Lok Sabha
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114. Panchayatl Raj Institutions are primarily
the Institutions of

a) Popular Government
(b) Self-Government
(¢) Tederal Government

(d) Quasi-Government

115. Which of the following is/are the right/
rights mentioned in the ‘American
Declaration of Independence’ ?

1, Life

2. Liberty

3. Pursuit of Happincss
4, Fraternity

Select the correct answer using the code
given below,

(a) 1 only
(b) 1 and 2 only
f¢ 1,2 and 3

(d) 2,3 and 4

[P.T.O.



116. T A fa S0 gl A dea B 118. T & H AN F A, o) o
1, % R 3 st g A’ wwl 'i'?‘"“ﬁ@m%ﬁhmﬂmﬁamﬁ%
T ST 3 A P e

fre wbFm/fR afena ¥ i
(a) aTER o gaT 87 %%
1. F8q &
(b) ST S 2. ARG
3. IHEE
(c) s ARTTEA
(d) ST Tho F (@ Fa1
(b) “hae 1 3R 2
117, g T H dheEn B TR Y g SR fe) ¥ 233
T §, Hifs
(d 1, 2313
1. ¥-J8 W ¥s wH F fag s &9
fer g ¥
2. gl ¥ Wiy AgHEE TGHAT T § 119. y-wged & wed #, Fwiafad A R 3
FH-F T 77
3. e R A W g i & S @@ R
5 sy et 1 IR @ P TR W R 1. _aw&mmﬁaﬁﬁmﬂﬁi
2 HGE
2. A wWrEE: W gREEE 5a (R
I § ¥ BA-H wE e B8 giga) o gfda 74 B
3. W Y y-Taer IRa g 2
Fad
o 1 F Ry T g 1w R wd IR
(b) ad 1 3 2 (@) a1 3R 2
(b) FaA 1 3R 3
(c) a2k 3
(c) Fa@ 23R 3
(d) 1,2ajhts _ @ 1,233
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- 116. Who o Uiy pl
Fres1 ents deSCribe v
Government ¢ *Mocracy as

e
People and by yy,, Peo;mple' for the
e”?

ng American

(a)
(b)

(c) George Washin gton

(d) John F, Kennedy

117. Inhab'%tants are Unaware of the speed of
rotation of the Planet Earth because

1. the angular velocity is constant for

each place on the Earth’s surface

2. the atmosphere rotates with the
Earth

3. there are no nearby objects, either
stationary or moving at a rate
different from that of the Earth

Which of the above is/are the correct
explanation(s)?

(@) 1 only
(b) 1 and 2 only
(¢ 2 and 3 only

(d) 1,2and3b.
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118. While travelling to a hilly region, you

notice a massive boulder, which was
loosened by heavy rains and moved
downhill. This has resulted due to
which of the following processes?

1. Mass wasting
2. Erosion
3. Weathering

Select the correct answer using the code
given below:

(a) 1 only
(b) 1 and 2 only
(¢ 2 and 3 only

(d 1,2 and 3

119, Which of the following statcn;ents in
respect of landslides are correct?

1. These occur only on gentle slopes
during rain.

2. They generally occur in clay-rich
soil.

3. Earthquakes trigger landslides.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 1 and 3 only
(¢c) 2 and 3 only

(d) 1,2 and 3

[P.T.O.
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(d) THo o HTEA

121. mﬁmmﬁmmmﬁ%mﬁmww

2 A T Tl 87
124. 1927mnm€wmﬁa€ﬁmmmm

(a) 1813 1 91 TR T oY

Mo 3Ro IFSH
() 1793 Fl TE TR (a)

(b) wETeE T
(c) 1929 F1 @l {H
(c) THo Tio &
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20 Consider the folloy,

geographical phen .8 fcatul.“ about. a

2. It is hazardoyg

mountaineers to  skiers and

3. It involves g miy

sliding and flow; °' falling, rollng,

Ng of materials

Which of the follow;
st "TOWIng phenom
be identified with the above fe:t?liccs?n

i (a) Slump and eal'thﬂow
(b) Avalanche
(c) Landslide

(d) Rockslide

121. The real beginning of western education
in India can be dated from

(a) the Charter Act of 1813
(b) the Charter Act of 1793

(c) the Sarda Act of 1929

(d) the Macaulay’s Minute on Indian

Education, 1835

| SDFR-F-TAG/44A

ution’ was first

122, The term Industrial Revol
uscd by

(a) J. A Blanqui
(b) T.S. Ashton
(c) Arnold Toynbce

(d) R. H. Tawncy

123. 'The Khudai Khidmatgar (Servants of the

God) was organized by

(a) Mahatma Gandhi

(b) Khan Abdul Ghaffar Khan
() M. A Jinnah

(d) M. M. Malaviya

124. The Mahad Satyagraha of 1927 was
organized by

(@) B. R. Ambedkar
(b) Mahatma Gandhi
(c) S. C. Bose

(d} LOkmanya Tilak

[ P.T.O.
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125. wemies W (q A G T T @) 128, Wmﬁ‘m“ﬁmﬁwmw‘
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(@) (@) & <A

(b) (b) et g0 6 7 i
(c) <o Mo Ipg

(e) TR (4 )

(d) Ho TSFITEETA
(d) m%wﬁw%éﬁaﬁrﬁﬂﬁaﬁgmﬁq

126. 134t WA= +1 U9, SrEmg v AefiRa §

¥ o v S 3 129. ﬁaﬁ,wﬁ,ﬁm,mﬁ@zm%méz
(@) EA-FHel (@) T wErE fomm
(b) Feu (t;) HeA-Tud
(c) Taftrs ey
‘ (c) dram
(d) @ deh
(d) <wam

127. ¥ 31 99 3@l # A @ A, 9 r-fam i
A (To To Wo) ¥ 324 413 oy 130+ FoAfem 2 s o /aiw sy sl

F s Im Yy iaﬁza%ﬂ:muaﬁzomﬁgg_r?
(a) ST (a) Tim |
(o) %= (b) v

(c) gl ) W

g (d) fifem
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‘ i The satyashodhak' Sa

12 :
gociety) was s

(@) Vinoba Bhaye
(b) Jyotiba Phyle
) B.-R. Ambedkar

(d) C. Raj agopalachari

126. The 13th .Century. text Lekhapaddhati
gives us information on which one of
the following topics?

(a) Art of writing
(b) Essay writing -
(c) Legal document

(d) Epigraphic style

. 127. Nkrumah was one of the five leaders, who
f the Non-Aligned

comprised the core 0
Movement (NAM). He was the leader of
which country in Africa?

(a) Nigeria
(b) Kenya
(c) Uganda

(d) Ghana

37
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ndent

128. The idea of Planning in Indepe
India was drawn from

(a) the Bombay Plan

the demand made by peasants

(b)

(c) the demand made by workers’
unions

(d) the Gandhian vision of India’s

future

129. Nisarga, Gati, Nivar, Tauktae and Yaas

are names of

(a) new fighter aircrafts

(b) tourist places
weather stations

(c)

cyclones

(d)

130. Which one of the following States/UTs
was connected with the Indian Railways
network in the year 2021?

(@) Mizoram
(b) Ladakh
(c) Manipur

(d) Sikkim
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131, ITUEvE % Sire, free W i FE, T 3 134. -ITRz TEw A § o

e w aRmR & s (3F) T watfers = w9 6 dwan Pt g
frafafaa A A fra Fro A @ad & off? firerf) 27 k
(a) pIiPE]
(@ T o
(b) AT (PR HIN) (c)
(d) Trarem (fifm)

() o= wiwEl =1 98 | frw (afm)
135. Prefafaa el § @ R weua T

(d) 39 TH o T g

(a) @

. . (b) I

132, W@ § At o) w9 weadE! f Fa e & :
ey # Frefifa § @ $H-7 w@ ¥ (c) =T
(d) ST

(@ 28 T=a A 8 9 TGS
136. mﬁ,mﬁf@nm@,mﬁa

(b) 27 T4 3R 9 H TN e ol F () B gEen FEd
T Y fpah! fadrgand €7

(c) 30 TG 3R 6 FY TFEH : (@) 0 T

(d) 0o =4 ¥R 7 WY TSA&H . (b) TR TR
(c) S AEH
(d) TWHEAH

133, fem (Fh), @fem g (whe) R sien (¥a)

Sreffaa 3 A feaes v 87 137, @ =fn 3 W 3 Red am A B
el 30 2, i, et i e ¥ ¥ B

(a) s Refufaa & @ fra aa @ 0
am?

(b) W (@) WIEER @@

(c) aodeEsi (b) TR HETS

, (c) TIEA 7
(d) AT (d) VU &
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The forests of Uttyy

5 ;
i h an
in Himachal Pradeg), d, Kuliy Valley .

.» Nagalan

in vfjs 80 ! d ang Manip Dzukou Valley
news account of I:Ir were in the
pllowing Teasongp N one of the

(a) Deforestation

(b) Forest fire

() Poaching of wilq .
mals

(d) Illegal mining

32. Which one of the following is correct in
respcct of total number of States and
Union Territories in India?

(a) 28 States and 8 Union Territories
(b) 27 States and 9 Union Territories

(c) 30 States and 6 Union Territories

(d) 29 States and 7 Union Territories

e the forms of

133. Snow, sleet and hail ar

(a) precipitation
(b) condensation
(c) transpiratio?

(d) evaporation
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134. Which one of the following i
the most prevalent form 0

136. In India, rigi

137. A person had vi

g likely to be
f weathering

in hot-tropical desert areas?

(a) Mechanical
(b) Chemical
(c) Biological
(d) Leaching

g cities was the

Which one of the followin
‘megacity’?

first to attain the status ol 2

(a) London

- (b) Paris

(c) New York
(d) Washington

d and stable elevafed lands,
d series of scarps

denuded rocks an
f which of the

are the features o
following?

(a) Northern mountains
(b) Peninsular plateau
() Northern plains

(@ Coastal plains

sited a region in India and
found trees, such as Khair, Neem,
Khejri and Palas. Which one of the
following regions is she/he expected to

have visited?

(a) Malabar Coast
(b) Garo Hills

{c) Sunderban Delta
(d) Desert Region
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138. Fr=fafas sl w e Hifkw -

1. I« 3ifoes @oe e I Y@ w9 A
T 3R wiaRd ¥ R

2. 39U, A N FEEWO H HRU

A = TR B R
ST FoAl § | PA-T /-2 'R R/
(@ *= 1
(b) A 2
(c) 1 3R 2 I
(d IW13RAA 2

139. A9&IW, FEQ &L, FRA AR WREE
Fefafea # 3 fra e ¥ gqus ¥

(@) FATBEA (S=ReH)
(b) ¥asTa AhE (TS TRw)

(c) TR (feegifeen)
(d) waa Fmin

14o.uﬁmnﬁh,waﬁ;m@q(ﬁm)
@ W ¥, A R Pefoia § @ feg
9 TG h AEn w5 o

(a) mmﬁmm
(b) Q&Y

() Tt
(d) <™

41. Wﬁﬁ,mmmﬁﬁaﬁq
" ﬁmﬁwﬁﬁmﬁ«rﬁmﬁﬁﬁm;ﬁ?%
* el 97 \

(a) AR
(b) T
(c) <EGISH

(d) A"

142. mwﬁ@ﬁéa@aﬁq@ﬁqﬁ,m?
(@) M
(b) Toeidta
(c) WIEEE

(d) U=

143. ¥ § 99 WRA ¥ I=aW @ T S
a1 ey R, S S ofRE @ 9=
HT, % o T € warsh w5

T T - i (q9) W e
T I? :

(@) = 55 weden
(b) Afd ST sqwor
(c) =R T Rt
(d) = At weht o




0 qsider the following St
' hents ,

ROCkS do not fon

original form for long .
transformation, and undergo

: Transformation
2 of rocks icniried

weatherin
by th-e i
metamorphic action on and

Wthh of the Statﬁment .
js/are correct? S gwen above

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1.nor 2

mass wasting, erosion and

9, Weathering,
ors of which

transportation are indicat
one of the following processes?

(@) Denudation

(b) Endogenetic process

(c) Diastrophism

1) Mountain buildiné

to observe
an; ijch on€ © the

lains
Territories Yo" may

0. 1If you w
and outwash P
following Union
have to visit?

(a) Andaman an
(b) Lakshadwecp
(c) pPuducherry

(d) Ladakh
41
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141. Legendary Ka

142. In a first, I

143. Who among th

thak dancer pandit Birju
d recently. He was the
ch onec of the following

athak?

Maharaj dic
doyen of whi
Gharanas of K

(a) Jaipur
(b) Raigarh
(c) Lucknow

(d) Banaras

ndia is to export BrahMos
missile to

(a) Bhutan

(b) Philippines

(c) Maldives

(d) Nepal

e following is the Head

of the Committee appointed by the
Supreme Court of India to enquire into
the circumstances that led to the Prime
Minister of India’s convoy being stuck
for several minutes on a flyover in

Punjab recently?

(a) Justice Indu Malhotra
(b) Justice Ashok Bhushan

(c) Justice Navin Sinha

(d) Justice Rohinton Fali Nariman
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144, 51 8 P ored S s i e A e 147 T 9 U I R oo g
R e fidhe @ i Rt (@) WA % SumER

(@ A A (b) FFa o o
(c) A BT H gy
i ol (d) Y % gefy
(c) T & wis
148. FAEH YHfa Taw 99 (3mgo %o o g,
(d) T\ TR T A e T (v ) 9 g i
fofia feram R7

(@) 3 (Mefriz) Avf
145. T € ¥§, IR iRy SgEy™ @1 (3E)

% <ud svm & w9 § it ¥ e frgfe A (b) I (TISE) Al
T ®7 (c) Theraa (Frer-93e) dof
(@) To THo FRu HHR (d) ER-Heheued (frfemfa wEsid) inf
(b) o T 149. ¥Rd 9K 3 359 ffy 91 S) 1w 9w’ 3+
T 79 =1 Tofa foar &7
(c) <ho THTHFWH -
) , (@) 6 FHEN
(d) THo QIMHTY (b) 26 TER
(c) 26 feg=x
146. =7 wagw fd, 2021 % ogew, d7wa 9 gf (@) 6 feE=
' A wra & frafafaa 4 @ g asa § gaifrs ;
-3 7 150. fr=faRaa & @ g Tem 3 14 =, 2022
T Afirs g TR veT SRE A
fa) SV Toram enn?
(b) B g (@) TEHia HTe™
e S g (b) ST HAEH
c -
(c) Wrey IR YRER e T
(d) ot (d) 9 HaTe™
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the following ref

4m0P8 WIng reti

{0 cket DY 'P_agging a Wi:::d from 147. Who among the following 1 the
|  on the Chairperson of the Goods and Services

t 1 ¢ T

a8
f India

(a) The Prime Minister ©
on Finance Minister

AB de villiers ‘
the Lok sabha

)
(b) The Uni

Micha,el Hussey." (
(c) The Speaker of

) Quint® de Kock | (@) The President of India
-1 148. The International Union for Conservatioﬂ
(IUCN) has recently
(Red
—

g Ros® Taylor . |
| o of Nature

/' categorized the

Sandalwood) into

Red sanders

the following is appointed as @) deficient catcgo™

\/ho among _
the tenth Chairman of the Indian Space | N
Resea’rch Or ganizati‘pn (ISRO) recently? (b) endangered category
. PR LS
;! ¢ Ladich (c) near-threatened category
'(d) c‘ritically cndangered category

o AS Kiran Kumar
nt of India has dccided to

149. The Governme
Baal Diwas’ o1

m K Sivan
(] ‘ observe YVeer
- (a) 6th October

|
(b) 26th November

> 1
[ K Radhakrishnlan

@ s. Somanath b,
= 4] ¢ (c) 26th December
' ‘ | (d) 6th December

2022, which one of
s has organized a

§, According to the For¢
Wh h Qne Of the
150. On 14th January,
tration

2021, area-Wise < jargest forest
following States has the % % the following ministrie
' global Surya Namaskar Demons

cover in India?
/ programme?

(a) Odisha | ' (a) -
' (b) The Ministry of AYUSH

The Ministry of Culture

() Madhya prades?
(c) The Ministry of Health and Family
Welfare

(d) The Ministry of Tourism

(d) Chhattisgal'h
43
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